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Run 4401 mpswise, acc0: All

Entries: 1840511

Mean: 6.6074 +/- 0.0028

Std Dev: 3.8037 +/- 0.0020

Run 4401 mpswise, acc0: All
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Mean: 0.4990 +/- 0.0004

Std Dev: 0.2654 +/- 0.0003

Run 4401 mpswise, acc0: Beam OFF
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Run 4401 mpswise, acc0: Beam ON, Laser ON

Helicity==0
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Entries: 374495

Mean: 9.8607 +/- 0.0009

Std Dev: 0.5794 +/- 0.0007
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Mean: 9.8982 +/- 0.0009

Std Dev: 0.5789 +/- 0.0007

Run 4401 mpswise, acc0: Beam ON, Laser ON
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Run 4401 mpswise, acc0: Beam ON, Laser OFF
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Helicity==1
Entries: 282597

Mean: 7.4409 +/- 0.0011

Std Dev: 0.5911 +/- 0.0008

Entries: 282531

Mean: 7.4776 +/- 0.0011

Std Dev: 0.5913 +/- 0.0008

Run 4401 mpswise, acc0: Beam ON, Laser OFF
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